Name:

Class:

Punnett Square System!

	1. Determine dominant & recessive form and assign symbols

2. Determine parents genotypes

3. Draw punnett square and place each parent’s possible gametes on outside

4. Fill punnett square with possible offspring genotypes

5. Evaluate genotype and phenotype ratios of possible offspring


	Tall=T

Short=t

Tt x Tt





Genotypes:

1 TT:  2Tt : 1tt

Phenotypes:

3 Tall : 1 short


Pea plant traits that exhibit complete dominance (see Fig. 12.3 p.289)

	
	Seed

Shape
	Seed

Color
	Flower

Color
	Flower

Position
	Pod

Color
	Pod

Shape
	Plant

Height

	Dominant
	Round

R
	Yellow

Y
	Purple

P
	Axial

A
	Green

G
	Normal

N
	Tall

T

	Recessive
	Wrinkled

r
	Green

y
	White

p
	Terminal

a
	Yellow

g
	Constricted

n
	Short

t


Use the plant traits to complete the assignment that follows:

1. Draw a punnett square for NN x nn

Genotype ratios:

Phenotype ratios:

2. Aa x aa

Genotype ratios:

Phenotype ratios:

3. TT x Tt

Genotype ratios:

Phenotype ratios:

4. Pp x Pp

Genotype ratios:

Phenotype ratios:

5. Cross two plants that are heterozygous for seed shape

Genotype ratios:

Phenotype ratios:

6. Cross a plant that is heterozygous for seed color with a plant that has green seeds.

Genotype ratios:

Phenotype ratios:

7. Cross a plant that is homozygous dominant for pod color with a plant that has yellow pods.

Genotype ratios:

Phenotype ratios:

8. A tall plant is crossed with a short plant.  Some of the offspring are short.  What are the genotypes of the parents and the offspring?

Parent’s genotypes:

Genotype ratios:

Phenotype ratios:

9. A package of seeds produced from one set of parent plants are grown and produce 3 times as many purple flowered plants as white colored plants.  What were the parents genotypes?

Parent’s genotypes:

Genotype ratios:

Phenotype ratios:

10. Three-fourths (3/4) of the plants produced by a cross between two unknown pea plants have axial flowers and one-fourth (1/4) have terminal flowers.  What are the genotypes of the parents?  Provide a Punnett square as evidence.

Parent’s genotypes:

Genotype ratios:

Phenotype ratios:

11.  You have a plant with green pods and you don’t know its genotype.  What are it’s possible genotypes?  What genotype plant should you cross it with to find out which genotype it has?  (a test cross)

Parent #1’s possible genotypes:

Test cross parent’s genotype:

Test Cross #1

Genotype ratios:

Phenotype ratios:

Test Cross #2

Genotype ratios:

Phenotype ratios:
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